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INTER B.Sc. ExamiNATION, 2018

OR
(1st Semester)
N> can not act asagood ligand. Justify the statement. CHemISTRY ( HONOURS)
4. @ Writeahort noteon hydrides. 3 | NORGANIC CHEMISTRY
b) i) Write a short note on ortho hydrogen and para Paper - VII
hydrogen. 3 Time: Two hours Full Marks: 50
OR Thefiguresinthemarginindicatefull marks.
i) Completethefollowing reaction Attempt all questions.
Csk+XeF, =77 1. & Briefly describe how would you determine the age of
What is the geometry of the product ? What isthe mineralsand rocks. 2
structure of it ?sit an stereochemically non-rigid b) How can you establish the inner-sphere nature of the
species? following electron transfer reaction by %Cl labeling
c) Comment on the structure of basic beryllium acetate. experiment: 13

How isit prepared ? 3 .
e [(NHg)sCo" — CI " +[Cr" (H,0)e)%*

d) Compare and contrast the chemistry of Be with other
elementsof group 2. 31 +5H,0 - [Co" (H,0)¢]* +[(H,0)sCr'"' —CI"1?*
c) Auger effect and radiation emission (i.e., X-ray
production) are not the nuclear phenomenon — Explain.
1

d) How wouldyou calculateky/kp ~6.5inthelight of zero-
point energy ? 2
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Inamaterial found inacave hasaC-14 B -decay rate of
2 dpm/g of C-14. Calculatethe age of the sample, if the
C-14 decay rate of normal sampleis15.5. [Giventy, of
C-14is5700vy]. 3

What arethedifferent type of radioactiveequilibria?In
the radioactive decay process. 3

A—Xa sg_kB ,C (kp >kg)

Show that
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where, tmax 1S the time when B attains its maximum
activity.
The E° for Cu?*/Cu’ couple (0.15V) islessthan that for

thel,/21~ couple (0.54V), yet Cu?* isfound to oxidize I~
tol,. Explainthereason behind thisobservation. 23

Writeashort note on (any one) of thefollowing: 2
i) Saturated calomel electrode
ii) Concentrationcell

Defineredox indicator. Givetwo examples, and mention
their redox potentials and colors in the oxidized and
reduced forms. 2
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State the Lux-Flood theory of acids and bases and
explainitwith suitableexamples. 2
Comment ontherelative acidity of BF;and BBrs. 1%
Write a brief account on the “Pearson-Pauling Paradox”™.

23
Calculate bond order of He,, He,*, and comment on
their stability. 2

Show that Cr(ll) acetate is diamagnetic while Cu(ll)

acetateisantiferromagnetic. 2%
OR

First loni zation Potential of NO islessthan both N, and

O,. Explainitby MOT.

Discuss metal -metal bonding patternin ResCl,%~ . Why

itscolour isintenseblue? 3

Why intensity of colour increaseson goingfromF, tol, ?

1
Hs species can not be bent but Hs™ can be bent. Explainit
by MOT. 2
OR
Draw MO diagram of HF,".
Discussdifferent typesof H-bonding. 2



